20224 FIIEBEXRIST1-AHvh—RFHE(U-15) K& TREXE

IS IRD) KHAKRSD EHATF—LERDIST . PARAR) 1 RI-T %

Al 1| mav—F| EEF |2| Y330 |3 YF

B|1|®sv—F| ZUFwh |2| MY |3] EREHM

C|1|®mev—F DXAF |2| RILAIL |3| P=—Y3

AR 4898 A8 4R108 AHB 48168

=15 YANAGI FIELD =i5 ZREIYMR—-ILEVA-BEYF =5 FEHBETIVE

53] pal-i4 E¥ | BERE pat-i4 FH | BERE pal-4 =¥
1|8:80| H33—T - YF 2 |1]1000] EBEF - YF 3 |1|1000] kREF - H33—-7 3
2|10:30] DXAFI - P-—Ja 1 |2]1200 2HFyb - | ®BREM | 1 |2|12000 RHFvb - AV 1

RIS E: YF 3|1400 DXFN - | MR | 2 |3[1400] RILAZIV | - P=—Ja 2

=5 =RFEXE EEWITSVE

tfeedl s | - | eEw | RE BEIALE: P=—Ua BpENE: y53-7

BmEELE: LY

Xﬂy3412§B'J—'j'%7Ju0)vbZ?b—ﬁv%Ezooz(;z:ﬂU—dﬁrﬁ FiHA:

D|1|®1v—-F| TBRDIT |2 B1{L 3 A2{iL 4 C2fi

E|1|#2v—F| PARHR |2| AMEZ [3] ciff |4| B2k

AR 48178 AR 4R238 AB 4R308

=15 ZREIVMR-ILEYA—-AEYF =15 ZREIVMR—-ILEYA-BEYF =i5 ZREIYMR—-ILEVA-BEYF
i3] ol 4 =¥ | BERE ot =¥ | BERE i1 =¥
1|10:00] FRHFT - D4 3 |1|10:00 Z=RHFT - D3 3 |1|10:00 FRHFT - D2 3
2|11:45 D2 - D3 4 2|11:45 D2 - D4 4 2|11:45 D3 - D4 4
3|13:30] FARHA - E4 1 [3]13:30] PARHA - E3 1 [3|18:30] PARHR - E2 1
4|15:15 E2 - E3 2 4]15:15 E2 - E4 2 4]15:15 E3 - E4 2

FPRiiELE - iR LE BREENE

AH 5818

=15 EREIYMR-ILEYA-BEYF

i3] A =

1‘ D24z ‘ - ‘ B2l | B%

PREiALE

| YLAFL—Ur ‘Fz‘ Dif ‘Fg‘ Bl ‘m‘ D2t -E2fis

AR 5A3R AR 5A5H AB 5878

=5 ZBREIyMR-IEYE— BEYF E3S) ZBREIYMR—IEYE— BEYF =5 ZREIYMR-IEYE— BEYF
53] pat-i4 =¥ | BERE pat-i4 FH | BERE pai-i4 =¥
1|10:00{ YLAFL=w| s F4 IRIE [1[10:00 YLAFL—%p| s F3 ARAE | 1]10:00] YLAFL=Y%| vs F2 IRIE
2|[12:30 F2 vs F3 IRIE | 2|12:30 F2 vs F4 IRiE | 2]12:30 F3 vs F4 EE

B 34 L6 2F-L BEAE HiEm
2431 43 J177V-&




